FREAHE T 2BIEOHS (R3~)

LA FRA E R E (Fn54E5H 1 B BIfE)
(hHEE)
s 25 |L‘
FRE | TR | BN ML) HEAK
A3 6 14 140 N9.7 30
44 6 13 107 | A23.6 25
A5 6 10 96 [ A 10.3 22
(RIS E)
s 25 |L‘
FRE | TR | BN ML) HEAK
A3 2 7 90 11.1 28
44 2 7 89 All 29
A5 2 7 84 A 5.6 24
UDEEER)
2 s I HEINYREY
TRE | TR | REK ML) HEAK R
A3 17 190 3,589 A L9 314 11.4
44 17 187 3,458 A 3.7 304 11.4
A5 17 182 3,278 A 5.2 294 11.1
(HZH2)
2 s - HRIANGY
FRE | FRE | AR ML) #RH PR
A3 13 89 1,869 A 3.6 219 8.5
44 13 92 1,887 1.0 217 8.7
A5 13 94 1,877 A 0.5 215 8.7
(BEFR)
PR | BEHK | EEEK RERE | KRR | BRER
Ri4E (%)
SERES 5 216 1,772 | A 6.4 657 31.8 37.9
A4 5 210 1,682 | A 5.1 593 30.7 36.9
A5 5 199 1,647 | A 2.1 575 31.1 39.5
(BB BER)
b s 4
TRE | TR | K ML) HEAK
A3 22 107 12.6 47
44 20 96| A 10.3 51
A5 21 96 0.0 52
(BHEFX)
b 4
FRE | BEHK | AR ML)
A3 2 13 134 3.9
44 2 14 142 6.0
A5 2 15 147 3.5




2. /N TEAR IR - PRI R E EK

(& F54E5 A 1 B BI7E)
IV - AR )
# | Ak | ok | AT | X
1 | o2& | & | a& | 58 | o& RER
A3 17 17 190 26 26 24 24 25 25 - 40
A4 17 17 187 24 26 24 24 24 25 - 40
TS 17 17 182 21 24 26 24 24 24 - 39
(R R =)
IR 148 24 34
Ei 3 = g 3 = g % = g 3 =
AFu34E | 3,589 | 1,907 | 1,682 568 306 262 560 293 267 579 309 270
AFu44E | 3,458 | 1,838 | 1,620 544 | 276 268 568 304 | 264 551 287 264
AFu5eE | 3,278 | 1,737 | 1,541 490 | 247 243 542 280 | 262 562 301 261
44 54 64F
B 3 = g 3 = g % =
T3 591 334 | 257 640 336 304 | 651 329 322
A4 575 309 | 266 582 327 255 638 335 303
TS 539 279 | 260 568 307 261 577 323 254
3. R AR E - AR
(B - 30
- B HAEK o | BRI
&t A | AR &t = 7= ve B gy
aFi34E 13 13 - 89 24 22 22 - 21
aFnasE 13 13 - 92 25 23 22 - 22
SF054E 13 13 - 94 25 23 22 - 24
(CRERIAERES)
AREREK 14 248 34
Ei 3 = g 3 = g % = g 3 =
AFn34 | 1,869 942 927 | 621 312 309 638 313 325 610 317 293
AFn44E | 1,887 941 946 | 630 317 313 620 312 308 637 312 325
AF054E | 1,877 958 919 | 629 330 299 627 316 311 621 312 309




